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Note : This paper is of seventy (70) marks containing 

three (3) sections A, B and C. Learners are required 

to attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Critically examine the functions and importance of 

financial management. 

foŸkh; izcU/k ds dk;ks± ,oa egRo dk vkykspukRed ijh{k.k 

dhft,A 

2. The following is the capital structure of X Ltd. : 

Sources ` Cost 

Debentures 3,00,000 4% 

Preference Shares 1,00,000 9% 

Equity Shares 6,00,000 12% 

X Ltd. needs to raise ` 6,00,000 next year and its 

retained earnings are expected to be ` 2,00,000. The 

company proposes to raise funds roughly in 

proportional manner. Assume that the company incurs 

a floatation cost of new equity shares equal to 10%. 

Find out weighted average cost and marginal cost of 

capital. 

,Dl fy- dh iw¡th lajpuk fuEuor~ gS % 

lzksr ` ykxr 

_.ki= 3,00,000 4% 

iwokZf/kdkj va’k 1,00,000 9% 

lerk va’k 6,00,000 12% 

,Dl fy- vxys o”kZ ` 6]00]000 mxkguk pkgrh gS vkSj 

bldh izfr/kkfjr vk; ` 2]00]000 gksuk izR;kf’kr gSA dEiuh 

vkuqikfrd <ax ls Q.M mxkgus dk izLrko djrh gSA eku 

yhft, fd u;s lerk va’k ds fuxZeu ij O;; 10% gSA 

Hkkjkafdr vkSlr ykxr vkSj iw¡th dh lhekUr ykxr Kkr 

dhft,A 
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3. What is Capital Budgeting ? Compare and contrast 

Internal Rate of Return and Net present value as 

methods of capital Budgeting. 

iw¡th ctfVax ¼ctVu½ D;k gS \ iw¡th ctVu ds ewY;kadu ds 

fy, fof/k ds :i esa vkUrfjd izR;k; nj vkSj ‘kq) orZeku 

ewY; dh rqyuk dhft,A 

4. What do you mean by „Gross‟ and „Net‟ concept of 

working capital ? What factors should be considered 

while estimating the working capital ? 

dk;Z’khy iw¡th dh ^ldy* o ^’kq)* vo/kkj.kk ls vki D;k 

le>rs gSa \ dk;Z’khy iw¡th dk vuqeku yxkrs le; fdu 

dkjdksa dks /;ku esa j[kuk pkfg, \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss any six of the following : 

fuEufyf[kr esa ls fdUgha N% ij la{ksi esa ppkZ dhft, % 

1. Explain the essential elements of International 

Financial Management. 

vUrjkZ”Vªh; foŸkh; izcU/k ds vko’;d rRoksa dh O;k[;k 

dhft,A 
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2. What are the various short-term sources of finance ? 

foŸk ds fofHkUu vYidkyhu lzksr D;k gSa \ 

3. B Ltd. belongs to a risk class for which the appropriate 

capitalisation rate is 10%. It currently has 1,00,000 

shares selling at ` 100 each. The firm is contemplating 

the declaration of ` 15 as dividend at the end of current 

financial year. What will be value of share if dividend 

is not declared ? What will it be if dividend is  

declared ? Answer these on the basic of Modigliani-

Miller model and assume no taxes.  

ch fy- ,sls tksf[ke oxZ ls gS ftlds fy, mfpr iww¡thdj.k 

dh nj 10% gSA blds 1]00]000 va’k gSa tks ` 100 izfr 

va’k ij fcd jgs gSaA pkyw foŸkh; o”kZ] tks vHkh&vHkh ‘kq: 

gqvk gS] ds vUr esa QeZ ` 15 ykHkka’k ?kksf”kr djus ij fopkj 

dj jgh gSA ;fn ykHkka’k ?kksf”kr ugha gksrk gS] rks o”kZ ds vUr 

esa va’k dh dher D;k gksxh \ ;g D;k gksxh tc ykHkka’k 

?kksf”kr gks \ eksfnfXy;kuh o feyj ekWMy ds vk/kkj ij mŸkj 

nhft, vkSj eku ysa fd dksbZ dj ugha gSA 

4. Write notes on „Trading on Equity‟ and „Capital 

Gearing.‟ 

^lerk ij O;kikj* rFkk ^iw¡th feykuk* ij fVIif.k;k¡ 

fyf[k,A 

5. Explain the concept of operating leverage and financial 

leverage. 

ifjpkyu yhojst ¼mŸkksyd½ vkSj foŸkh; mŸkksyd dh 

vo/kkj.kk dh O;k[;k dhft,A 
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6. Explain the salient features of stable dividend  

policy. 

fLFkj ykHkka’k uhfr dh izeq[k fo’ks”krkvksa dh foospuk  

dhft,A 

7. What are the objectives of receivables management of 

the firm ? 

,d QeZ ds izkI;ksa ds izcU/k ds mís’; D;k gSa \ 

8. Explain the various steps of cash management. 

jksdM+ izcU/k ds fofHkUUk pj.kksa dh O;k[;k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following. 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k;sA 

1. Financing decision is related to purchase of fixed 

assets. 

vFkZ izcU/ku ¼foŸk izcU/ku½ fu.kZ; dk lEcU/k LFkk;h lEifŸk 

ds Ø; ls gksrk gSA 
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2. The meaning of Capital Budgeting is planning and 

control of capital expenditures. 

iw¡th ctVu dk vFkZ iw¡th O;;ksa ds fu;kstu o fu;U=.k 

djus ls gSA 

3. If earning per share on equity shares is 1.5 and market 

value of share is ` 15, cost of capital will be 10%. 

;fn lerk va’kksa ij izfr va’k vk; 1-5 gks rFkk va’kksa dk 

cktkj ewY; ` 15 gks rks iw¡th dh ykxr 10% gksxhA 

4. Financial leverage is measured by 
EBIT

EAT
.  

foŸkh; yhojst dk ekiu gksrk gS % 

  

5. Low gearing is justified during inflation period.  

fuEu nUrhdj.k eqnzk LQhfr dky eas mfpr gksrk gSA 

6. Sound dividend policy is based on symmetry between 

investment of profit and distribution of profit. 

lqn`<+ ykHkka’k uhfr dk vk/kkj gksrk gS ykHk fofu;kstu ,oa 

forj.k esa lkeatL;A 

7. Excess working capital is evidence of Advanced credit. 

vR;f/kd dk;Z’khy iw¡th mUur lk[k dk izek.k gSA 

8. Optimum working cash balance is one where 

transaction cost is lowest. 

vuqdwyre dk;Z’khy jksdM+ ‘ks”k gksrk gS( tgk¡ O;ogkj ykxr 

lcls uhph gksA 
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9. Overcapitalisation occurs when Actual rate of earning 

> current rate. 

vfr iw¡thdj.k gksrk gS tc vtZu dh okLrfod nj pkyw nj 

ls vf/kd gksA 

10. Motives for holding the cash in a business are 

compensative. 

,d O;olk; esa jksdM+ j[kus dk mís’;@iz;kstu {kfriwfrZ 

lEcU/kh gksrk gSA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

M. Com–04  540




